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PHYSICS

“A'

Section A
This section contains 15 multiple choice questions. Each question has 4 chorces
(A), (B), (C) and (D) out of which ONE or MORE THAN ONE may be correct.
Marking‘scheme: for each correct answer +4 marks will be awarded and for each
wrong answer -1 mark will be awarded

1. Moving charge produces HfJaT =rst ter Feer &
(8) magnetic field. Taehry &
(b) electric field faegcher &
(c) gravitational field aTscaTeyor &1
(d) The correctness of all above depends on the observer 39R1ad Tl T Teadr Tdder®d T IR

FATE

2. Force on a straight current carrying conductor in a uniform magnetic field is
Ueh HHT G &1 37 Ueh e el eered T Sl i §
(@) perpendicular to the magnetic field. TSI &1 & eadc
. (b)” perpendicular to the lengrh of the conductor. &3&eT $r o F daad
(c) sideways deflecting foree.-?'?!ﬁ a#r‘f‘a_zrﬁ»l?r FeA aTell el ‘
(d) the sum of microscopic feréeé F&-Wék—»ﬁ’aﬂ b -

&

":3. 7 Electric field line ﬁazm ﬁ?i@T ; :
(a) is real curved line! mwm%
" (b) ‘may be a real curved line. Wa@ﬁﬁﬂﬂﬁmi@ﬁm%l
(c) is the curve, tangent to which glves the drrectron of force on posrtrve charge U d% g, TSl
TaRET UF LAlcHS arsrqwzrﬁrﬁr%rraar%r

(d) is a curved line which repel other electrlc field line in'a direction perpendicular to the line joining

opposrte charges. UEEE?ET%GIT ar ﬁtlfl?-f mﬂﬁﬁgﬁmwﬁﬁﬁvm%&ﬂﬂ
IR emmmmarﬁaﬁam%r ‘

|

To an observer msrde water the msrde surface of water seems like a :

qr:ﬁ%quﬁa‘%%f?rcr mﬁmﬁmmﬁr%
(a) perfectly reflecting mirror' g8 ¥ & R a‘&UTI
(b)’ perfectly reflecting mirror with a hole. T% o & | 90 A § qﬁﬁfaﬁ A UK

(c) perfectly reflecting mirror with a hole whose radius increases with depth below the water -

surface W@E$Wﬁmﬁmﬁﬁmﬁmﬁﬁ—mmﬁw$;ﬁﬁm$m :

e &1
(d) transparent surface. IRE2I HAE|
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When a real object moves towards a convex lens, 51 Y S

(a) its image moves away, from the lens. 38T SfafaFs od ¥ gy ST %qﬁﬁﬁ S i 3R A R

(b) its image may move towards the lens or away from the lens. 335‘:'

« W ¥ @m & {987 9Fq
me.
(c) average velocity of the object and image with respect to the lens are sa
3R wfafers o 3ikaer do1 gonet e &
‘ gfafes & 3faa a1
(d) average velocities of the object and the image are the same. ard 3R
A A &1

Electric field inside a hollow conductor U W@ &HSF & e ﬁaﬂﬁ T
(a) is always zero. HRIT e BT &1 ‘ :

(b) may be zero. Y &l T &

(c) may be non-uniform. 3RGATT & ThaT &

(d) may be uniform. WB’TW g

Electromagnetrc mductron in a crrcmt may take place when there is Hﬁv‘c’ H ﬁE?lT-f mﬁzr OROT &1

(@) change i m magnetic field through the circuit, m & mﬂﬂ‘ﬁﬂwéﬁ?ﬁ ‘Ztﬁa?-‘f?-f
(b) change-in area of the circuit. Tfdhe & eTTwher #F gRade ET— i LT
(c) movement of the arms of the circuit. @fde #r T3 A ?lﬁ BT [ ey

(d) rotation of the circuit. Hﬁ?‘dﬂfl??iﬁ ET [

Radioactive decay takes place in I3l e1er grar &

(a) a larger nucleus. U &3 ATMHS #|

(b) a smaller unstable nucleus. T B¢ JTEAT A1THF 7|

(c) both in larger or smaller nuclei. Bl 98 AT B ATTR |
(d) the nuclei in which nuclear force is unbalanced. ag =Tf% %miﬁr;r@m g Wﬁ?{ Rrar g

Heat is the energy FSAT 3511 ¢

(a) that flows spontaneously from higher temperature to lower temperature ST U ITT JI9ATT ¥
F arqm:raa&mrwa’ﬁ%l

(b) that can be transferred from lower temperature to higher temperature 58 &5 ;nqm ST
YA I TR foRar ST Fahar 8

(c) of a body represents motion of the particles of material of the body. Te &g & qEng- EF FUT &y
afeY 1 g2 g ‘
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12.

; (dy All of the above are correct 3‘4'@??( m?r Hé‘r E.’]

13.

(a) Thls work rs done by the electnc ﬂeld 21'5' Eﬁrﬁ %aaerafrar aam ﬁh-zrr Srar %]
(b) This work is done by an external agent R F aTE’?JW aT:rRT ﬁTaT ST

. (c) This work

(d) represents internal motion of the atoms and molecules of the body &% & GXATIIHT 3T 03T
T 3afes ITfey &t eifar & \

The electrostatic force between two stationary point charges depends on

2 e fiig 3t & e sevarcied s et vl et &

(a) the product of charges. 3aeit & UTUIFTW’WI i

(b) inversely on the square of the distance between them. Wﬁﬁ gIdT & 3oTeh s &I qﬂ &
gt | ‘

(€) on the medium between the charges. 312/t & & & ATETH T

(d) on the motion of the observer. ‘i% T 71fY W

If a charge Q,= 2 coulombs is brought at a dustance of r'=3m in the electric freld of another charge

Q;0.5 coulomb, then
ﬁ@ﬁ@amer—ZMr—BmﬁqﬁwwmmrQr—Osmffﬁaﬁﬂmﬁ

<
-

(a) the electrostatic force between thern is 10°Newtons. 3% dIer sAaeIEe e aer. 10°N g1

' (b) the electrostatic force between them canpnot be calculated because the mformatlon about the

dlelectnc constant of the medium between them is hot given.

mmmwammﬁmmmmmmmemmem

aframmﬂa'é’r@rﬂé’s‘t Rt : ’
(c) Q, expenences the electrostatlc force due to Q1 only after. 10 sec 02 ?%_cIF{ 10'8 8$s & 9 @y

Ll el Ve
ik

*Wsﬁa@?&%maﬁwmm%ﬂ ‘ _‘f‘.: e . i
(d) Q experiences a force due to: @ mstantly Qz 'JT Q1 5 EF:R'@T $§$;R:§ié$ e F—RF( ma'

UL

Electric potentral dlfference is the work done in movmg a umt posrtlve charge from one' pomt to
another point.Mark the correct option(s). .

mmmmmmmwe@wn@wamn%mmm%nw

lis equal to the negatlve of the work done by the electrlc f|eld Tg H ﬁa‘u?-r a%éraam
oy :m:r Fr & m AT & TE ‘s‘t ! . -

\
gl "R Yo

When metal sheets are transported from one place to another then sfa tn?r &r m W: ﬁ

BT T qazné S & |
(a) electromagnetic mductlon takes place in them. 3?@{ ﬁ*cra?( Ty QTUT g‘f;} WHT?I

0
|
i |
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15.

(a) is a spontaneous emission of ch

: . fapgeel df 3TTepis =it =
(b) internal crystal size changes: T iafe A :nvﬁ Pz qﬁa’éﬂ &1 HeheTl B

e.
(c) internal mechanical properties may chang

Wﬁﬂéﬁﬂﬁm

(d) all above are correct.

e nucleus. HTEH e A1fds &

Radioactive decay Yf3ater#f &ra |
arged particles to more stab

Ise AT Fclt 3 4 e nucleus. 3T8@ T2

(b) spontaneous emission of Alpha, Beta and
TR o7 ForToT Sheey & FoIT 3reT, et 3K

(c) is dependent on the size of the radioactive nucleus.

Gamma to produce more stabl
ST T T Se@9i o
YRaveraf A1 & 3R I oYX e &

4 ey 78T T Bl
(d) is independent of the size of the nucleus. Yaerst AT & PR T el

Temperature of a body is the measurement f&FiT a¥d &1 ATTHTA AT g
(a) of degree of hotness or coldness of a body. T a&d @ 3'?"53 B O He

(b) motion of the particles in the body. T & 3ieX # Ul &1 arfal : _
(c) motion of all the particles of the body in the reference frame of the body a¥g & e A H aEd

FIIHMaoifrafa o - E
(d) all above are correct. mﬂﬁﬂﬁ?ﬂ SR k) ,f'

Phys:cs !
Sectlon B (Subjectlve Type Questlons) R W

16.

17.

18.

19.

20.

Explain how chemical energy is converted into electrical energy in a cell Defme EMF of a cell and
obtain the expression for electric current due to the cell in the external circuit.

ﬁﬂﬁmmﬁm&a‘rm%ﬁﬁﬁqﬁaﬁaﬁ?ﬁ%l el & EMF aﬁqﬁmﬁaéﬁﬁmaﬂ?a’@
Qﬁwﬁﬁﬁa‘?mﬁmwﬁﬁcmwaﬁﬁm ki :
Explain in detail how energy is produced in the sun; Support your answer in appropriate nuclear

reactions.

I A FA HA 3cUesT glcll &, SHHT FAEAR F caredr HIfT, Wmaﬁmmﬁm
¥ HUA ek FT GASA HIfSTT ;

Explain in detail how electric current is produced by dynamo. Can this principle be used to produce

steady direct current?

STAAAY ZaRT faed ORT & 3cte gIcll &, fIvdR & Egsy | a7 58 i o 39T fer sreay
wmmﬁ%ﬁv%ﬁmmm%‘?

A bulb is situated at a depth of h below the free surface of water of absolute refractive index n what
fraction of light emitted by the spherical bulb will go out in the atmosphere?

UF Jod n mﬁmaqqmﬁﬁmméﬁ;ﬁﬂhﬁmwﬁaﬁ%lmﬁm
Wﬁﬁm?rﬂﬁﬂmmrqluusm H d1gYT STUaT? :

Explain freezing of water in lake takes place in extreme winter.

ST FHIFAV [ 37ea 8 T 7 e 7 aeh 8 517 Jrar



CHEMISTRY

Sectlon A

This section contains 15 multiple choice questlons Each question has 4 choices
(A), (B), (C) and (D) out of which ONE or MORE THAN ONE may be correct.

Marking scheme: for each correct answer +4 marks will be awarded and for each
wrong answer -1 mark will be awarded

1. It is given pH of a solution is 6.8
Ueh HefRleT &7 pH fearsrr g 6.8
(a) Solution is acidic HERIE 3FelT §
(b) Solution is basic FeRIT SRR &

(c) Solution is neutral e[ JeTleT &
(d) Anything acidic, basic or neutral G5 ofr goa }IIF?RT BRI AT 3aTdT

Acid base reaction is exothermic in nature. Arrange in the decreasing order of heat evolved during

reaction

RS & AR e % SrATaNd €1 i & e R e & aed e 3 e Y

1. CH3COOH + NaOH
2..NaOH + HCI
3. NH,OH + CH;COOH

(a) 35251 . (_b):1'>‘2>3ﬁ PR Lt (@223-1

Electronegatwuty of elements A/B, C and D.are 128 and 3.5 respectxvely .

dcal A, B, Cﬁroﬁﬁmmmmr 152 33%1135%
(a) Bond between A and B will be |on|cA}ﬁTB$é1H6HHHWﬁ$BﬁH

(b) Bond between A and C will be ionic A 3R C & diT §ti=T 341?% AR
'(c) Bond between C and D will be ionic C 31X D & e st 3marfaen gram
(d) Bond between B and D will be ionic B 3R D & &er ¢ 31raf@es glem

X

Statement(s) true regarding co-ordinate Bond ST-HEEAS S & et e aere
(a) transfer of electrons takes place SclaFgial &I TATATAROT BIcT &

(b) sharing of electrons takes place So&Fci=T HIST &I &

(c) itis having ionic nature Ig HTdiaeh Yehid arell & '

(d) itis having covalent nature g TgaTSIeh Tehid &

Unsaturated hydrocarbon is converted to saturated hydrocarbon with the help of catalyst. Mark the

correct option(s) for this reaction

3R T HEE W IO GIg3IhIelat I HeCel BISIehTela 3 qec] AT STl §1 58 wiafhar & forw @y
e &l RfgAd Y ‘
(a) Reaction is exothermic JT&ifeHaT FeATaIdr & ‘
(b) Reaction is endothermic 3if&fsrar FeaTeigr g«
(c) This is syn addition '

) This is anti addition

[

(d




10.

: ism. Carbon compound shg
d is Isomeris .
n compoun

qereen| T & A

One of the reasons for large number of carbo

Isomerism because carbon N 5 7 QTR ]

glY ST FRUT &
(a) shows Catenation Property ’3[@7’"—’[

(b) forms Covalent Bond HgdZIsTah SEle X 3 @y gUe T T ©
(c) can combine with other elements easily Y & 3 dc

(d) is tetravalent T ATSTShAT

Alkali metals are kept in kerosene oil but not in water bec
mmﬁﬁﬁﬁimﬁmm%aﬁsﬁmﬁﬂﬁ

(a) in water H" and OH’ is present which is not in kerosene aredr 7
AT HASE
: : YA ©
(b) water is a polar compound kerosene is nonpolar il T garT e & fBEy &1 ad
capacity qﬁﬁyﬁmmm‘q‘v‘ﬂm 39T b3

(c) water can catch fire due to its low heat
F dereT grsgred & AT

el §
Bonds of water is Polar with Hydrogen so it can react with metals 9r=il

Wﬁ%ﬁ%mﬁ%mqﬁmmm%

ause

H*mOH‘ﬁsg\a%aTﬁ?ﬁﬁ?f*

(d)

Which one is/are correct regarding extraction of copper?
T & ferseRsuT & Heer 7 T T HE & /7 i e g K
(a) Main ore of copper is concentrated by gravrty separatlon (—ﬂﬁ % qEH, W Ca) ?R»‘chlav"i“T -

QRFRIOT AT IR AT SATE _
(b) Main ore of copper is concentratedby froth ﬂotatron method dTs T ﬂwm WB"UHIHH

fafRy ganT IR R SITeT &

(c) Cu,S heated in presence of oxygen to convert rt to Cu20, Cu0 will automatlcally reduce to

Copper hence it is called self reduction method. ’

Cu,S FT 3iTFdIsT &1 3afEafa # a3 st Cu,0 # afafela Rear 1T &, Cu,0 #1 T é’ra;qu

7 3gEOT &1 ST SATIT 38 T 3rashoT fAfT el ST g
(d) Cu,S partially roasted to Cu,O then it reduces CuzS. Cu,S &I 31TRAF T F Cu,0 H AT AT

STaT & RFT T Cu,S T AT HIAT & |
The salt whose aqueous solution turns blue Litmus to Red is HTee foi@enT Steitar 8l Sitel foreaa &hr

el H AT &

(a) Ammonium sulfate
(b) Sodium acetate

(c) Sodium Chloride

(d). Potassium Carbonate

A student was given three solutions marked X, Y and Z and asked to arrange in the iIncreasing
order of their pH values student put two drops of each solution on three strips of universal indicator
paper separately the colours shown by X---> Blue, Y----> Yellow and Z----> Green -

So, the correct order of increasing pH is’ ‘



12.

13.

14.

15.

U O X, Y 3R Z & e 81 U 71w 2 39X 373% pH AT & Fad 1 31 cqgieug am?‘r?m*i%mm
7T AT| BT A I GieT Y & el FF gfAader 33 IR & et 3remar - 37eeT Rge W srer oy

maam%mcrmmx--»—or Y-~—->CﬁﬂT3ﬁTZ———-> UK

ar, o SgeT T TE FE
(@) Z<X<Y (b) Y<Z<X (c) X<Y<z (d) Z<Y<X

2 Li+H; = 2 LiH in this reaction Li is iU 310 gafiergor & EFTB'}TT g

(a) Oxidized 3TerdTahToT

" (b) Reduced 3T oT

(c) Neither Oxidized nor Reduced =é 3ifereieor 3R A1 rgetor
(d) Both Reduction and Oxidation 3iferefiaor 31k 3rgawoT 21t

Concentration of Ore through Gravity Separation is useful when 379%F & QHE$IUI H

TEATRYOT GUFFRIOT fAfer Fegak Qe & o
(a) Metalis very active UTq AT Al g
(b) Ore his heavy and impurity i is Ilght?ﬂ?ﬂzﬁ ARY E%T IR 31'?@ godhl gl

(c) Oreis light and lmpuntyiS‘heavyH?T@' 35”?[ gl 3-ﬁ1‘ FIEH EW gr

() Impurity is very active SJTQIﬁT m i ?.T

Ore which is malnly heated in presence of oxygen El’s' HITH f?@ W Eﬁf 3@21% H
(a) Carbonate ore . - <
(b) Oxide ore

(c) Sulfide ore

(d) all ores

When Cu is added to dil. HC solution [Cu 3T ST$edC HCl TIoAT # STelet W]

(a) CuClwill form [CuCl Fe1am]
(b) CuCl, will form [CuCl, S=¥am]

(c) H,gas will be librated [H, 3T f?ﬁm’m}

(d) None .

During cleaning of cloth 393 &Y 'H‘Fl‘é’ & gHT
(a) ionic part of soap surrounds dirt Fﬂ@ﬁ cal m AT 13l IR 3 X T %
(b) Hydrocarbon part of soap surrounds the dirt HT9T T FISZIRIEA 9T Tl &y TRy 3R

O o ?‘

(c)
(d) Hydrophobic part of soap get attached with cloth HT@FT FT ST faed HET FUs

fAasar & :

Hydrophlhc part of soap get attached with cloth HTE?T T STl T4 819t s Rerar ’5"
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18. ¢

19

20.

Chemistry

Section B (Subjective Type Questions)

Explain with exam
ples how the value of pH changes when s
¥ sergeoT digd EaTE Eﬁ“q

7there'>

alts are dlSSolved in neutral water.

T 9T Serelier srer 3 EieeY OX pH e HIeT fehd STeprd SGeidl

erism? How many isomers

a:ﬁ:aﬁmﬁ%?

ern long periodic table? Explain any

of hexane are

W
hat is isomerism? What are the main reasons for isom
T Ry g §2 o7 3 o T T €7 $RT

Why is the atomi
¢ number taken for t od
three’ periodic properies. he construction of the m

el “”mﬁﬂvﬂéﬁrmésﬁvqmmmaﬁm

ffrwranwn
ivity series Explain with

‘What
is the method of extraction: of actlve metals at the top of the act

reason'?

‘WWﬁWWWWﬁWWHMW%WWW?

Write the e
quation of haloform reactnon and tell which compound the yellow precnpltate belongs to.

- What kind of compounds takes part in this reaction?

SEIRE] ‘
WWWWWMWWWH%W|WW$W%

‘ Eﬁﬁ%m:ﬁrmg;ﬁgo

i

(l \ |
! IR R 3 i o i N i

10




BIOLOGY

Section A
This sectltc):l'l contains 15 multiple choice questions. Each question has 4 choices
(A), (B), (C) and (D) out of which ONE or MORE THAN ONE may be correct

Marking scheme: for each correct answ i
er +4 marks will be
wrong answer -1 mark will be awarded awarded and for each

1. Which of the following statement (s)is (are) true about heart?

AR 3 & et w1 et ey &5 Y & w87

(Left atrium receives oxygenated blood from dlfferent parts of body while right atrium
recewes deoxygenated blood from lungs

(i) Left ventricle pumps oxygenated blood to d|fferent body parts while right ventricle pumps
 deoxygenated blood to lungs

mﬁmmwmﬁmﬁ%ﬁ@mmﬁﬁwm%mmﬁmm#
MH?{T%HWWW%I

(m) Left atrium transfers oxygenated blood to right ventricle whnch sends it to different body
parts

wﬁmﬁmmwﬁm%ﬁmﬁm%aﬁ@aﬁ*ﬁ@mmﬁﬁ
Aoarg

(iv) Right atrium receives deoxygenated blood from dlfferent parts of the body while left
ventricle pumps oxygenated blood to dlfferent parts of the body
mmﬁmﬁﬁ%m#mmwmm%mwﬁmm

WWﬁQ@T*ﬁ@HWﬁWW%I
(@ () M
() (i)and (v) ~(d) (i) and (i)’ - ,
2. Which of the following statement(s) is (are) correct? RrTafaa & & #id a1 #u= e €)?
(i) Pyruvate can be converted into ethanol and carbon dioxide by yeast.

qsﬁzﬁmwmwmmmmm@ﬁmmwﬁ
(i) Fermentation takes place in aerobic bacteria, fvas T dedifar 3 gar %|

(iii) Fermentation takes place in mitochondria. ms?ja?l?sm H foruas giar g
(iv) Fermentation is a form of anaerobic respiration f&uas mma’rq U &I Ueh &9 §|

(a) (i) and (i) (b) (ii) and ()
(c) (i) and (iv) (d) (ii) and (iii)

3. Factors responsible for the rapid spread of bread mould on slices of bread are

%%mw%nﬁ%ﬁ#ﬁmﬁ%iﬁvmmﬁ

11



4.

| i) large number of spores F31- :
i nutnents in bread 315 3 7 3R A deal m—m

Which among the following is not the function of testes at

g - AT

d

(i) availability of moisture an Eﬁ

(iii) presence of tubular branched hyphae IR onfld e8I Fufeufd

und shaped sporangia FiYer 3R 3 TARAT T ﬁm‘rvr
-~ (b) (i) and iv)

(@) (i) and (iii) | ) _
() (i) and (ii) (d) (iii) and (N)

(iv) formation of ro

tpuberty?

T RiEATaTad 3 O Sl Fiae W quaﬁﬂ‘é’f 3
(i) formation of germ cells MY R 1 AT

(i) secretion of testosterone SEIEI &I A

(i) development of placenta cerer T T

(iv) secretion of estrogen TSI &l 91

(a) (i) and (ii) (b) (ii) and (iii)

(c) (m) and (iv) - e (d) (i) and (iv)

In a cross: between AABB x aabb, the ratio of F, genotypes between AABB, AaBB, Aabb

and aabb would be 2,
AABB x aabb & & w& #ia #, AABB AaBB, Aabb 31T aabb & siT F; sﬁ:ﬂagcrﬂaratn?ra’mr

(@y9:3:88: 1 -+ | )2t 12
(€)1:2:2:1 (d)7:5:3:1

“In‘the given food chain, suppose the amount of energy at fourth tT'ophlc level is 5 kJ, what

will be the energy available at the producer level?

Grass — Grasshopper — Frog — Snake — ‘Hawk
& 1S Wie HEe H, mmﬁvﬁra’mﬁrﬁwwmﬁﬁms kJ &, dY SoaTee TR R 3o

ST T gran?

T —> FgaT — e — HT — g .
(@) 5kJ (b)50kJ
(c) 500 k J (d) 5000 k.J

Which group of organisms are "notl constft'dent’s*of-"a"'fbod chain?’

sﬁa’rmaﬁemwwm%maﬁp

(i) Grass, lion, rabbit, wolf &, 2R, T, Afgar

(i) Plankton, man, fish, grasshopper Tad, H™, HGN, fZggr

(iii) Wolf, grass, snake, tiger aif3a, ard, |, TG

le, grass, grasshopper e, g, 9, a1, fegsT
(b) (iii) and (iv)
(d) (i) and (iv)

(iv) Frog, snake, eag

(a) (i) and (iii)
(c) (i) and (iii)

12



10.

11.

Given below are a few statements related to biodi i i -
: 0 biod - :
the concept of bio diversity Iversity. Pick those that correctly describe

?m#m@mmmmm 376 o S St e iy sraemom & wl avte ey
() Biodiversity refers to the different.species of flora and fauna present in an area
| ﬁaﬁﬁmﬁmmmﬁﬁa@mﬁﬁmm#ﬁ@mmﬁ%
(i) Biodiversity refers to only the flora of a given area
daﬁﬁ%m%m%vmma?mmﬁﬁﬁﬁaﬁﬁam%
(iil) Biodiversity is greater in a forest g 7 da fafavar sfs o &

(iv) Biodiversity refers to the total number of individuals of a particular species living in an

-area
mﬁﬁm#mmmﬁmmma@m*m@@amﬁ
(a) (.i) and (ii) (b) (ii) and (iv) )
(c) (i) and (iii) (d) (ii) and (iii)

Which is the correct sequence of parts in human alimentary canal?

HITT HTERATS H 11 T e 37 pler @7 22

(@) Mouth — stomach — small intestine — oésophagus — large intestine

(b) Mouth —oesophagus — stomach — large intestine — small intestine

(c) Mouth — stomach — oesophagus — small intestine — large intestine
33;3 — 9T — TARKITH — B 3d — 981 3T

(d) Mouth — oesophagus — stomach — small intestine — large intestine

Calvin cycle expends the following for fixation of 3-molecules of CO,

Hieas T CO,, & 3-307311 & REudieor & fFesfofed cag axar

(a) 9 ATP and 6 NADPH, (b) 8 ATP and 6 NADPH,
(c) 9 ATP and 3 NADPH, (d) 6 ATP and 9 NADPH,

Identify the option indicating the. CORRECT path of bile from liver to duodenum.
iR & 7golt ae fed & Fel AR I gl arer RAeheq T vgar &%)

(a) Gall bladder — Hepatocytes — Common bile duct —Hepatic duct Hepato-pancreatic
duct — Duodenum

facarery — gUCIAISTH — A fAcd well — TSd aTfgel guTe)-3reamery arfeel —
SHISTH '
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(b) Hepvatocytes — Gall bladde:

¢ —» Hepatic duct — Common bile duct — C°mmon‘:__

RIS — Reaerd — 3
afgeir — Jgoil . :

- - mon bile duct
(c) Hepatocytes — Hepatic duct — Gall bladder — Cystic duct —>_“Com_ g

- denum . : b
neneixpnpistlis et 3 Ay — AT e A — WA Tt 31wl

hepato-pancreatic duct — Duodenum

TN — 2R 59 Ry — e se — T ficd ell — gy L

31T AR — SIS R T ETION EREy

(d) 'H'epatocyte's ~ Common hepato-pancreatic duct — Gall bladder— Duodenum
BICTHISTH — HIHRT §UTeY- 39+ ATy — Riedrerr — §ms

Study the following statements; fwrffRT H2=t IETTA HY .

i Law of segregation is based on the fact 'that the alleles do not show an)( blendmg. |
THTIN 1 (212097 56 231 R IR § o afaamedy 18 wfFwmsor 78 Rard &1

u Alleles of a allelic pair segregate from each other during gamete formation.
w%%%aﬁuﬁwww%mww#mﬁm?l

iii. Each gamete receives only oné of the two alleles.

SN I 2 e 3 St v 8 e g2 _

v. A homO_Zf)'IQ.Ou_s pérent prbduce_s tWo kinds of gametes, each having one allele with
' equal proportion. . \

13.

' Cofrect'stétérﬁénts _-afé : \
(@) i, ii, iii, iv O ) i

()i, i, iv h PR (d) iii; v

If due to some .unknovyn réasons mitral valves become Wea'k; which of the following. cases
would be:seen in.an':indivianl?~.. S i ) A WV ‘

i. Le‘sé volume of' blood would be-prnp’ed out through left ventricle as blood wduld )

ii.  More amount of blood would be pumped out through left atrium,

WW%Wﬁmﬁmﬁmwmml
iii.  Less volume of blood would be pumped through right ventricie as blood would
backflow in right atrium.

14



jv. Less volume of oxygenated blood would be supplied to body parts..
S mﬁaﬁﬁﬁaﬁa@haagawm@rmwﬁmﬂm;

(@iandiv (b) ii and iii
(c) i, iii and iv (d) Only ji

P IN: THEET Aoy Al o1, g7y 77
(a) Statement | is correct and stateme
(b) Statement I is Correct and statem
(c) Both Statement | and statement ||

(d) Both Statement I and statement ||

o A 7 MEE e Torar 2

nt Il is incorrect.
ent | is incorrect.
are correct.

are incorrect.

15. Read the given statements and select the correct option.
Statement 1: Unequal meiotic divisi

on of diploid primary oocyte results into the formation of
secondary oocyte, : ‘
Statement II: A large number of primary follicles are formed during the phase-from birth to.
puberty.

o a1 ettt sl st e R s e

YA 1: G FreIfdF oocyte %mmﬁméwﬁmm oocyte
1 fAaToT gar 1 ' |

HYT II: oo #Ww%w#ﬁm@@ﬁmwmgl
(a) Statement | is correct while statement Il is incorrect.

(b) Statement Il is correct while statem.ent l'is incorrect.

(c) Both statement | and Il are correct.

(d) Both statement | and Il are incorrect.
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Biology--

Section B (Subjective Type '-Que'stlons)l

e o .eda , does itmeén"‘t
16. If a plant is releasing carbon dioxide and taking in oxygen dur m,g th y_ L ‘

there is no photosynthesis occurring? Justify your answer.

2 ' Hclold
aﬁaﬂéﬂmﬁﬁtmmmﬁwsgmw%ﬁymﬂﬁmﬁﬁww aw
%ﬁ?mrwawaﬁﬁm%?mmﬂmﬂﬁaﬁlu e p |

SR _Why_and_h.dw_do.e's_wateLenterjonﬁnuo.usly_into_the-roet—‘xylem?— T b w
TS STSEH # ULl ooNaR &2t 3R y@er e 2? : :
18. Does the occurrence of diversity of animals on earth suggest their diverse ancestry also?
Discuss this point in the light of evolution. ' . "y
wﬁw@ﬁﬁﬁﬁwwmm%ﬁvwmsﬂ«ﬁﬁﬁ"aﬁré?vm*:mﬁwv
19. Evolution has exhibited a greater stability of molecular structure when compared with
morphological structures. Comment on the statement andj_ust_ify your-opinion.- . -
| mﬁmﬂeﬁﬁgm#_mﬁm.m@rm-@w-wmhﬁﬁm%rw,w |
fewaoft ot 3t roet 17 r 9fe B | " F S
20. () Can a plant flowering in Mumibai be pollinated by pallen grains of -th‘e s'a"mé species
growing in et _ . e A T Gt
, New Delhi? Provide explanatio_n to your answer. bz M S I
T AR e S S SR 5 S QR e v e v Pk e A
(i) Draw the diagram of a pistil where pollination has successfully occurred. Lébél the
parts involved in reaching the male gamets to its desired destination. - -

mﬁmwﬁawaﬁwmgmﬁlmgmﬁﬁmsﬁmmm
TG F AT st g # i | -

AN M o
g i oy | '

|
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